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Amongst  the following  the

characteristics of which system have

been incorporated in the Constitution

of India ? :

(1) Characteristics of Federal System

(2) Characteristics of Unitary System

(3) Characteristics of both the Federal
and Unitary Systenr’ :

(4) Characteristics of Confederation
System

How many Subjects have been
included in the Union List 7

(1) 97

(2) 100

3) 74

(4) 72

To review Centre-State - relations -
which Commission was appointed ?

(1) Santhanam Commission

(2) Sarkaria Commission

. (3) Shah Commission

- (4) Thakker Commission

The President of India is elected by

(1) Elected Members of Parliament

(2) Elected Members of State
Legislative Assembly

(3) Elected Members of Lok Sabha

(4) Elected Members of both the
Houses of Parliament and Elected
Members of the State Legislative
Assembly '

' Presidents Rule can be imposed-under

(1) Atticle 74
(2) ‘Article’75
(3) Article 356
(4) Article 368
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10.

The Union Council of Ministers is
collectively responsible to

(1) Rajya Sabha

(2) Lok Sabha

(3) President

(4) Speaker of Lok Sabha

How many persons are nominated to
Rajya Sabha ?

(nH 12

2) 14

3) 10.

(@) 15

The Chief Justice of the Supreme
Court is appointed by the

(1) Parliament
(2) Prime Minister
(3) Law Minister
(4) President

Who has the power to review the
judgement delivered by the Supreme
Court ?

(1) The President

(2) Lok Sabha Speaker

(3) Supreme Court

{4) Union Law Minister

The retirement age of the Supreme
Court judges are

(1) 65 years
(2) 60 years
(3) 62 years
{4) 70 years
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The Speaker of the Lok Sabha is

elected by the

(1) Members of the
Assembly

(2) Members of Lok Sabha

(3) Members of Rajya Sabha

(4) Members of Council of Ministers

Legislative

A non-member of Parliament can be a
minister for a maximum period of

(1) One year

{2) Two years

(3) Three months

" (4) Six months

Governor of the State is appointed by
the

(1) President

(2) Vice President

(3) Prime Mi.nister

(4) Chief Justice of Supremie Court

The minimum age for the appointment
of State Governor should be

(1) 30 years
(2) 35 years
(3) 25 yeafs
{4) 40 years

Constitutional Head of the State
Executive is

(1} Chief Minister _
(2) Chief Justice of High Court
(3) Governor

(4) Chief Justice of Supreme Court
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Who appoints the Chief Minister 7
(1) President

(2) Chief Justice of High Court
(3) Vice President

(4) Governor

Who is the Leader of State Legislative

Assembly ?

(1) Leader of the Opposition Party

(2) Chief Minister

(3) | Speaker of Legislative Assembly

(4) Dy. Speaker of Legislative
Assembly

The State Governor shall hold office
during the pleasure-of

(1} Chief Minister
(2) President

(3) Vice President
(4) Prime Minister

The State Legislative Council is
constituted by

(1) Direct Voting

(2) Electoral College

(3) Nomination by the Chief Minister
(4) Members of Parliament

From the following which state does
NOT have Legislative Council ?

(1) Rajasthan

- (2) Uttar Pradesh

(3) Mabharashtra
(4) Bihar
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Money Bill passed by State Legislative
Assembly must be passed by
Legislative Council within

(1) 30 days
(2) 14 days
(3) 60 days
(4) 90 days

The Chief Justice of High Court is
appointed by the

(1) President
(2) Prime Minister

- (3) Chief Minister

(4) Law Minister

In which year , Rajasthan High Court
was established ?

(1) 1950
(2) 1956
(3) 1949.
(4) 1952

Panchayati  Raj System  was
inaugurated in Rajasthan by former
Prime Minister Jawaharlal Nehru in
the year : '

(1) 1952

(2) 1956

(3) 1962

(4) 1959

Panchayats were given Constitutional
Status under Article :

(1) 243
) 12
(3) 356
(4) 360
. "
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The most important part of the
Panchayat System is

(1) High Court

{2) Union Government

(3) Supreme Court
(4) Gram Sabha

The main reason for _the end of Cold
War was

(1) End of Second World War
(2) Chinese Revolution of 1949
(3) Partition of Germany in 1945
(4) Dissolution of Soviet Union

In today’s world’ scenario, a new
development has taken place i.e.

(1) American Hegemony

{(2) Role of Russia

(3) Role of Group 77 _
(4) Role of Third World Countries

Tfle United Nations Organization was
established in

(1) 1949

(2) 1945

(3) 1948

(4) 1950

Which is the correct statement from

the following ?
(1) Staté is an artificial institution.

(2) State is natural and necessary
" institution.

(3) . State is an unnecessary institution.

(4) State has no obligation towards
individual.

| a




31.

.32,

33.

34.

35.

Y9 o i Aol o €
(N g

(2) &

(3) T

4) WK

5 T @ STEauReT H W S R
= 1 e e ?

(1) @D
(2) ew
(3) fremrRe

(4) @

e W W O GT 1 R T 2
(1) aww

(2) Eew
(3) wE
(4) @B

ifeT = W & fogra & i
Terergut FauRer av &

(1) whigad1

(2) s ¥ |

(3) FwiRPATEE | |

(4) =it ot Torsle e o1 SABER T |

FRTAS & AHUR] 3 B FAAH
T|EIE '

(1) 3R

2) ¥

() i

(4) =

31.

32.

The most important element of the
state is :

(1) Population

(2) Territory
(3) Sovereignty

(4) Government

‘It would be the lasting benefit to
Political Science if the whole concept
of sovereignty is surrendered.” Who
said ?

(1) Laski

(2) Gettle

33.

34,

35.

(3) Gilchrist
(4) Plato

‘State is an association of
associations.” Who said ?

(1) Aristotle
(2) Hobbes
(3). Locke
{4) Laski

The most important determinant factor
of Austin’s theory of sovereignty is

(1) Itis absolute,
(2) Itisdivisible.

" (3) Itis not absolute,

(4) Individual has a right to revolt.

The best example of a nominal head of
the executive is

(1) America
(2) Russia
(3) England
(4) China
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.In a Presidential form of Government
 the Head of the Executive is

(1} Real Hedd

(2) Responsible to Legislative Assembly
(3) Nominal Head '

(4) With no Veto Power

From the following, which country has
plural executive ?

(1) Nepal

(2) Switzerland

(3) Germany

(4) England

In context of British Parliamentary
System it is said that

(1) Head of the State has Veto power.

(2) Prime Minister is responsible to
Head of the State.

(3) Parliament 1s
 executive.

accountable to

(4) Cabinet dominates the Parliament.

In which country'-the Upper House or
the Second Chamber is known as the
most powerful chamber in the_ world ?

(1) America
(2} India

(3) England

(4) Bhutan

In India the Union executive is
collectively responsible to the

(1) President
{2) Rajya Sabha
(3) Lok Sabha

(4) Prime Minister
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-3

Select from the following : The first

condition required for efficient

judiciary is

(1) Commitment to Ideology -

(2) Remioval of Judges by the
Executive
Nomination of Judges by the
 Legislature

(4) Independent Judiciary

To contain the legislative and

executive powers of the state,

Montesquieu developed the theory of :
(1) Supremacy of the Legislature

(2) Supremacy of Executive

(3) Checks and Balances

(4) Dictatorial State

Democracy actually means

(1) Democratic State

(2) Democratic Government

(3) Theocratic State |

(4) Not merely a form of

Government, but a way of life

author

Who is the of ‘Modem
Democracies’ ?

(1) Dicey

" (2) Lord Bryce

(3) Lawell

(4) Seeley

Who said that ‘Democracy is a

perverted form of Government’ ?
(1) Plato '

(2) Gettle

(3) Aristotle

(4) Bodin
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Modern dictatorship has led to
{Select the correct answer from the
following)

(1) Totalitarian State

(2) Collective Leadership

(3) Rule by Majority

(4) Value-based Sdciety

In a Parliamentary System, the

executive is responsible to whom ?
(1) Head of the State

(2) Lower House of the Parliament
(3)‘ Lok Sabha Speaker

(4) Leader of the Opposition Party

In a Presidential form of government :

(1) The head of the executive is a .
member of Legislative Assembly.

(2) Ministers are also the member of
Legislative Assembly.

(3) Executive head and ministers are
not the members of Legislative
Assembly.

(4) Executive Head is not elected.

The basic feature of federal system is

(1) Provincial
supreme,

governments are

(2) Political parties are supreme.
(3) Consolidation of powers.
(4) Supremacy of the Constitution.

The basic feature of a unitary system is
(1) Centralization of powers '
(2) Decentralization of powers

(3) Duel citizenship

(4) Unstability
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In a unitary form of government there
15 '
(1) Separation of powers between
executive and legislature

(2)
(3)

Division of powers
Executive is constituted from the
members of legislature

(4) Single party system

Instructed representation means
(1)

Representatives are not under the
electorates.

Representatives work under the
electorates.

Electorates cannot orders the

representatives.

)

4

It is practicable.

From the following, under which
system minority representation can be
ensured ?

(1) One man — one vote system

(2) Proportional representation systém
(3) Territorial representation system
(4) Functional representation system

The main object of pressure groups 1s

(1) Capture power

(2) To join the
government

formation of

(3) To contest elections

4y To pres'surize the government to
achieve their self interests

The technique of pressure group is

(1) - Threatening

(2) Value-based demands

. {3) Support to elite class

(4) Unsympathetic attitude
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Who is the author of ‘Republic’ ?

(1) Aristotle
(2) Machiavelli
(3) Plato

(4) Marx

Who propounded the communism
theory of wives and property ?

(1) Marx
{2) Aristotle
(3) Locke
{4) Plato

Who is the author of ‘ARTHA
SHASTRA’?

(1) Locke

(2) Bentham

(3) Kautilya

(4) Ram Manohar Lohia

Who advocated the supremacy of state ?
(1) Rousseau

(2) Machiavelli

(3) Marx

(4) Mahatma Gandhi

‘King should be courageous like a lion
and clever like a fox.” Who said ?

(1) Machiavelli
(2) Plato

(3) Aristotle
(4) 1.8.Mill
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‘Man is born free, but everywhere he
is in chains.” Who said 7

(1) Bentham
(2) Aristotle
(3) Jawaharlal Nehru

(4) Rousseau

Materialistic interpretation of History
and theory of class-war was
propounded by :

(1) Dadabhai Naoroji
(2) Karl Marx

(3) J1.8.Mill

(4) Hobbes

“Will, not force is the basis of State.”
This statement is

(1) T.H. Green
(2) Karl Marx
{3) Machiavelli
(4) Hobbes

Hobbes, Locke and Rousseau are
unanimous on

(1) State is a result of divine will.
(2) State is a result of force.
(3) State is a result of contract.

(4) State is a result of evolution.

Which Article of the Indian
Constitution explains the functions and
powers of the Chief Minister ?

(1) 162
2) 167
(3) 168
(4) 169
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Who demanded dominion status to

* India ?

(1) Dadabhai Naoroji

(2) Shahid Bhagat Singh
(3) Chandra Shekhar Azad
{4) Ras Behari Bose

In Which year Mahatma ‘Gandhi
launched Quit India Movement ?

(1) 1922
(2) 1942
(3) 1935
@) 1918

Who demanded complete independencé
for India and to celebrate 26 January as
‘Independence Day’ ?

(1) Gopal Krishant Gokhale
(2) Surendra Nath Banerjee
(3) Mahatma Gandhi
(4) Jawaharlal Nehru

Ram Manohar Lohia is known for
(1) Individualistic thinker

(2) His views on party system

3) H.is v.iews on value-free system

(4) Concept of socialism

The dominant factor which has
influenced Indian democracy is

(1} Role of elite class

- {(2) Politics of caste

" (3) Unitary system

(4) Two party system
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 Select regional political party from the

following :
(1)
(2)
(3)
(4)

Congress Party
Communist Party
Bharatiya Janata Party

All India Anna Dravid Munetra
Kazgam Party (AIADMK)

“A day will come, when state shall
wither away.” Who said this ?

(1) Aristotle
(2) Karl Marx
(3) Bentham
(4) Machiavelli

Who propounded the theory of pain
and pleasure ? ‘

(1) Marx

(2) Mahatma Gandhi

(3) Bentham h
(4) Jawaharlal Nehru

Who is known as the first political
scientist ? '

(1) Plato

(2) Mahatma Gandhi .
3y Jawa}.l.arlal Nehru
(4) Aristotle

Who is the author -of ‘Discovery of
India’ ?

(1) Naoroji

(2) Aurobindo

(3) Jawaharlal Nehru

(4) Ambedkar '
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“Workers of the world unite, you have
nothing to loose but your chains.” Who
said ?

(1) Karl Marx
(2) Ambedkar
(3) Kautilya

(4) Machiavelli

1.S. Mill was a stanch supporter of
(1) Dictatorial State

(2) Liberty

(3} Socialist Ideology

{(4) Contractualist Philosophy

The credit for developing concept of
Behaviourism after the second world
war goes to -

(1) American political thinkers
(2) Russian political thinkers
(3)  Asian political thinkers
(4) African political thinkers -

One of the important characteristic of
Behaviourism is

(1) Traditional approach

(2) Constitutional approach
(3) Inter-disciplinary approach
(4) MHistorical approach

Post-Behaviourism is  virtually a
revolution for which the credit goes to

(1) Lasswel

(2) Apter

(3) LucianPye
(4) David Easton
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The basic characteristic of Post-
Behaviourism is : -

(1) Traditional Approach

(2) Study of State

(3) Reform is not the basis of
~ knowledge.

(4) Itisnot areactionbut a revolutlon

The basis of

approach is

(1) Methodology to analyse the input
and output functions.

(2) Itis not a part of system’s analysis.

_ structural-functional

(3) It is a non-scientific approach.

(4) 1t is applicable to politics of
scarcity.

Which is the correct statement from

the following ?

(1) Political development led to

~ totalitarian system.

(2) Political development is the
builder of democracy.

(3) Political development is the
builder of Aristocracy.

(4) Political development leads to
instability.

Select the correct answer from the

following : ' |

(1) Political culture is not the product
of faith and history.

(2) Political culture does not provide
structure.

(3) Political culture is an Integral part
of general culture.

(4) Political culture is not a set of
attitudes and beliefs.

Study of International Politics is

mainly based on "

(1) Power politics

(2) Socio-culture relations
(3) Historical relations
(4) Politics of morality

01



86.

87.

88.

89,

90.

01

& W ST e et €

(1) weplass stfteert 9@
(2) it AR |

(3) AT STREATe @
(4) |misTS AfERT 9

HrRfer HR

A @A THISH 1. ST GH G B

B. WisH BH ®ER 1. Sad. fier

C. 3 faaet 111, sheame afer

D. T HEeyd #Hw V. o0 quae
foraet

9

()-A-IV B-I CII D-II

(2) A-IV Bl C-lII D-I

(3) A-IV B-Il C-1I  D-I

(4) A-l B-IV C-1 Dl

TR W dfeum o H eifed swAw
<fer ot WY % WG % w0 T e g
(1) 93X, ST=ETH

(2) T 0

(3) TR AERET

(4) IR 7T

IR & Hiou & e % gy ¥ &n
IR & ST o e SIS

A ARG H FEE HE E

B. dfoum = wie & €T 9Ra &

SHATE |

C. iy wfem sear | AR €

D. =@ dfert e oo aidst = e fepar |
(1) A,B,C (2) A,CD

(3) A,B,D (4) B,C,D

forg difeer efys = € erEEE A

(1) T H1 FARHR

(2) s % faeg afusr

(3) v e BT R
(4) G TR o SifumR

18

86.

87..

88.

89.

99.

The base of all rights is
(1) Natural rights

(2) Religious rights

(3) Individual responses
{4) Social rights

Match the following :

A. Long walk to I.  Aung San
freedom Suu Kyi

B. Freedom from . J.S. Mill
fear '

C. On liberty 1. Isaiah Berlin

D. Two concepts IV. Nelson
of liberty Mandela

(1) A-IV B-I C-II D-lI

(2) A-IV B-II C-IlI D-I

(3) A-IV B-Ill C-II D-

(4) A-Il B-IV C-I D-III

Member of “Akhil Bharatiya Dalit

Vargh Sangh” who participated in
Constituent Assembly of India —

(1) B.R. Ambedkar

(2) Jagjeevan Ram

(3) Moturi Satyanarayan
{(4) R. Shankar

In the Preamble of Indian Constitution,

the meaning ~of “We the people of

India,” is '

A. Welive in India.

B. The source of power of
Constitution is the population of
India.

C. The sovereign power lies with the
people.

D. The Constitution is not framed by
Britishers. :

(1) A,B,C (2) A,C,D

(3) A,B,D (4) B,C,D

Which fundamental right was called
“soul and heart” of Constitution by
Dr. Ambedkar ?

(1) Right to Equality

(2) Right against Exploitation

(3) Right to Freedom of Religion

(4) Right to Constitutional Remedies
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“The President’s term of office is five
years from the date on which he enters
upon his office but he is eligibie for re-
election.” The Atticle which explains

- thisis

(1) Article 56-57
(2) Article 53-54
(3) Atticle 58-59
(4) Article 65-66

By which Constitutional Amendment
the maximum strength of Council of
Ministers was made 15% ?

1) got
(2) 90"
3) 91%
4) 92"

Select the correct sequence with
respect to representation in Rajya
Sabha : (from lower to higher)

(1) Rajasthan, Madhya  Pradesh,
Karnataka, Uttar Pradesh

(2) Karnataka, Rajasthan, Madhya

~+ Pradesh, Uttar Pradesh

(3) Madhya Pradesh, Rajasthan,
Karnataka, Uttar Pradesh

(4) Kamataka, Madhya Pradesh,

Rajasthan, Uttar Pradesh

Special procedure in respect of money
bills is mentioned in which Article of
the Constitution ? '

(1) 105

(2) 215

(3) 109

(4y 249

Who has the authority to take final
decision on ‘defection’ matters in
India ?

(1) The Presiding officer of the house

© (2) Leader of ruling party

(3) Leader of concerned party

{4} The eléctiqn commission
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In which Article of the Constitution
the Governor can reserve the bill
passed by the Legislature for
President’s approval 7

(1) Article 256

(2) Article 257

(3) Article 213

(4) Article 200

Which Article of the Constitution of
India says — “there shall be a Council
of Ministers headed by the Chief
Minister to aid & advise the Governor
in-the exercise of his function except |
in so far as he is required to exercise-

“his function or any of them in his

discretion™ ?
(1) 160 (2) 161
(3) 162 (4) 163

From the following which is not the

function of State Council of Ministers ?

(1) Decide the policy of the

government

(2) Advise the Governor at the time
. of high level appointment

(3) Formation of budget

(4) Decide/advise the time limit to the
. majority :

The sanctioned posts for the Judges in

Rajasthan High Court are (upto 30

April 2016)

(1) 30

(2) 40

(3) 45

(4) 50

Find the correct sequence regarding
the Local Government in India

A. Local Boards (Mukami Board)

B. 73" Constitutional Amendment

C. Recommendation of Thungon
Committee
D. Community Development
Programme
() A,B,C,D 2y A,C,B,D
3) AD,C,B 4 ACDB
a
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In India, local government is a subject of
(1) Union list

(2) State list -

(3) Concurrent list

(4) Residuary subject

Select the correct sequence of the

factors which influenced the Indian

politics after the nineties. o

A. Implementation of recommendation
of Mandal Commission.

B. End of dominance of single party
in politics.

C. Expansion of

economic policies.

new  liberal

D

. Assassination of Rajiv Gandhi.
(1) A,B,C,D (2) B,A,D,C
(3) B,C,D,A 4y C,D,B,A

From the following which is NOT a
United Nations Agency ?

(1) World Health Organisation

(2) United Nations Commission for
Refugees

(3)
(4)
Who does not support the traditional
political theory ?

(1) Michael Oakeshott

(2} Eric Vocgelin

(3) Berteind Jubenell -

(4) Charles Beard

International Monetary Fund -
World Wild-Life Fund

The first person who used the word
sovereignty :

(1) Aristotle
(2) Machiavelli
(3) Jean Bodin

{4} Austin

01
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4

The most important function of
executive is '
(1) To run the administration of the
country _

(2) Decision on budget
(3)

Decision on foreign policy
Decision on Bills

In Dictatorship the Head of the State
grabs power beyond the Constitution.
This is a statement by

(1) Abraham Lincoln -

(2) Churchill

(3) Ford

(4) Jawaharlal Nehru

Dadabhai Naoroji is considered as

(1) Economic theorist of Indian
Nationalism

(2) Social  theorist of Indian -
Nationalism

(3) Legal theorist of  Indian
Nationalism

(4) Extremist theorist of Indian
Nationalisim -

Adult suffrage is the “cause of

expansion of role of caste” is believed

. by

&) Morris Jones
(2) Vinoba Bhave
(3) Bhimrao Ambedkar
(4) K.N. Meneon '

The 100"™ Constitutional Amendment
in India deals with

(1) India — Nepal relations

(2) India — Pakistan relations

(3) India — Afghanistan relations

(4) India - Bangladesh relations
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Educational Psychology, helps the
teacher '

(1) te know himself

(2) to know the students

(3) to know the problems of class

(4) All the above

A child’s development is impacted by
(1) Heredity '
(2) Environment -

(3) Both heredify and environment
{(4) None of the above |

“Psychology contributes to the
development of the teacher by
providing him with a set of concepts

. and principles.” Who said this ?

(1) Kolesnik

(2) Crow and Crow
(3) Blair

(4) Kuppuswamy

One word that clearly explains the
characteristics of adolescence is

(1) Development
(2) .Changc
(3) Adjustment
(4) Stability

Who founded the field theory of
learning ?

(1) Kohler .

(2) Hull

(3) Lewin
{4) Pavlov
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Q)

Learning process is impacted by |
()
(2).

Physical environment of school

Psychological environment * of

school

Both physical and psychological
environment of the school

(3)
None of thlﬂ: above

(4

In the experiment of Pavlov, secretion
of saliva in dog by ringing the bell is

known as

(1) Spontaneous response

' (2) Natural response -

(3) Conditional response

(4) Conditioned stimulus.

Motivation influences
(1) speed of learning
chan ;;e in behaviour
character building

(4) All the above

Maladjustment means

(D

Disbalance between student and

his’environment
(2) Selfish and anti-social
3

Emotional disbalance
All the above

Projection Techrﬁque of adjustment is
(1} Direct method |

(2) Indirect method

.(3) Compensatory method

(4) Aggressive method
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For proper emotional development of

adolescents, teacher should undertake
(1) To

organise - co-curricular
activities interestingly

(2) To give punishment

(3) To observe strict discipline in
class-room _

(4) Use of traditional methods of
teaching

Psychologist _WhOI classified the

.motives between innate and acquired

(1) Thomson
(2) Maslow
(3) Gates

4) Garrett '

For the adjustment of shy and aloof

students, a teacher should

(1) motivate them to participate in
‘different competitions

- (2) Complain against them to the

principal _
(3) Punish them in class
{4) All the above

Psychologist, who has contributed in
the field of cognitive development of a
child

(1) Piaget

(2) Spearman
(3) Binet
(4) Galton

The principle of remforcement was
propounded by

(1) Kohler

(2) Tolman

(3) Hull

(4) Koftka
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In adolescence the development of
character is influenced by

(1) Society

(2) Family

(3) Peer group
(4) All the above

Which strategy is not proper for
keeping the good mental health of
students ?

(N Sympathetié behaviour of teacher

(2) To motivate students for self-
discipline

(3) Organising guidance programme

(4) Giving excessive home-work

The laws of learning by Thomdike
(1) Law of exercise

(2) Law of readiness

(3) Law of effect

(4) All the above

Essential for maintaining teacher’s

mental health

(1) To get social status

(2) Participation ~in
administration

(3) Organisation

(4)

school

of teachers

association
All the above

Which of the following behaviour is a
manifestation of emotional disturbance ?

(1) Aggressiveness
(2) Cordiality with peers
(3) Interest in studiés

(4) Regulated emotions
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Which of the following

Guidance is

(1) Personalized

(2) Collective

{3) Both personalized and collective
(4) None of above

teaching
model 1is appropriate for teaching
abstract concepts of the subject ?

(1) Advanced organizer model
(2) Inquiry model.
(3) Information processing model

(4) Co-operative learning model

Which of the following is not a type of
learning according to Robert M.
Gagne ? :

(1) Insight learning
(2) Signal learning
{3) Concept learning

(4) Stimulus-response learning

Golman is known for
(1)
2)
(3)
(4)

social intelligence
spiritual intelligence
emotional intelligence

None of the above

Which school of psyéhology_ has a
child at its centre of teaching process ?

(1) Gestaltism

(2) Constructivism

(3) Behaviourism
(4) None of the above
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The distinctive characteristics of

computer is

(1) Speed

(2) Storage

(3) Accuracy

(4) All the above

and ° logical

Both arithmetical

operations are performed in
(1) ALU

(2) Memory

(3) vDhU

(4) Mouse

Knowledge of computer is useful to
(1) Labourers

(2) Travellers

(3) Teachers

(4) All the above

Which is the longest key on the key-
board ?

(1) Home
(2) Enter
{3) Space-bar
(4) Shift

In M.S. Word

(1) Graphs can be prepared.

(2) Analysis of data ;:all be done.
(3)- Page numbering can be done.

{4) None of the above.
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Political Science studies

(1) the State

(2) the Government

(3) Both the State and Government

(4) Neither the State nor the
Government

Theory of Natural Rights believes in
(1)

Rights are natural.

Rights have no relationship with

human being.
(3) Rights are artificial.

G

Rights do not need any protection.
of State or Govt.

In India there is

(1) No concept of citizenship
(2) Concept of plural citizenship
(3) Citizenship not essential

(4) Single citizenship

The Chairman of Indian Constituent

-Assembly was

(1) Dr. B.R. Ambedkar
(2) H.V.Kamath

(3) Dr. Rajendra Prasad
(4) Jawaharlal Nehru

The Chairman of the Draft Committee
of the Indian Constituent Assembly
was

(1) Deen Dayal Upadhyay
(2) Dr. B.R. Ambedkar

(3) Sardar Vallabhbhai Patel
(4) Balraj Madhok
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have

The Preamble of the
Constitution was amended by

(1) 36" Amendment
(2) 10™ Amcndm_ent
(3) 42" Amendment
(4) 51* Amendment

_ Indian

The. total number of Articles of the
Indian Constitution are
(1) 295
(2) 304

- (3) 390

{4) 395

Under which Article of the Indian

Constitution, Right to Constitutional

Remedies have been granted ?
(1) 14
(2) 32
(3) 15
{4) 31

After. the 44™ Amendment of the .
Constitution, which of the following is
not a Fundamental Right ? '
(1) Right to Freedom

{2) Right against Exploitation

(3) Right to Equality

(4) Right to Property

Directive Principles of State Policy
been borrowed from the
Constitution of which country ?
(1) United States of America .

(2) Soviet Union

(3) England

(4) Treland
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